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i
/$�9
 �� e�8���
9������ ��/��� ������ 9��$���

μ ã ẽ T̃ C T̃rv

μ′
1 0.68871719 0.72837343 1.23370552 3.10346652 −1.84389397

μ′′
1 0.81395640 1.43867005 1.97012501 2.91324794 2.00251016

μ′
2 0.80267498 0.83798725 2.26009772 3.03169188 −1.98293642

μ′′
2 0.88734729 1.24472130 2.97373803 2.97306701 2.00068411

μ′
3 0.85530336 0.88504109 3.26879728 3.01520595 −1.99690250

μ′′
3 0.91324869 1.17586906 3.97406324 2.98691862 1.99975053

μ′
4 0.88572210 0.91096036 4.27305773 3.00890595 −1.99960338

μ′′
4 0.92909055 1.13776964 4.97446586 2.99230487 1.99919355

i
/$�9
 �� 5���������
. 
���������
 /�8���
9����� ��/���

k μ′
k μ′′

k μ′
k/μ

′
1 μ′′

k/μ
′′
1 k−8/3

� 4.13129887 · 10−3 3.66863029 · 10−2 � � �
� 6.61705554 · 10−4 5.27272358 · 10−3 ,��m, ,��

 ,���d
	 2.15292269 · 10−4 1.88241384 · 10−3 ,�,�� ,�,�� ,�,�	

 9.54304953 · 10−5 8.86552296 · 10−4 ,�,�	 ,�,�
 ,�,��

i
/$�9
 	�� ����������� ��/��� �����"� 9��$
+ μ = μJ �

k ã ẽ T̃ C T̃r T̃rv

� 0.76327 1.38908 1.99925 2.92063 1.64854 2.00000

� 0.76404 1.43293 1.99978 2.88628 1.62031 2.00000
	 0.77203 1.80498 2.00820 2.33977 −2.00000 1.91842

 0.77186 1.80575 2.00842 2.33745 −2.00000 1.91072

� 0.77582 1.80949 2.01204 2.32447 2.00000 1.66188
m 0.78852 1.78345 2.02473 2.37306 8.00581 −2.00000

d 0.63774 0.93864 1.03038 3.16551 2.00000 1.95979
- 0.56149 0.24921 1.02722 2.87977 6.15797 −2.00000

j 0.91744 1.31852 2.24575 2.90882 2.00000 −7.11721
�, 0.91744 1.31852 2.24578 2.90882 −2.00000 −7.11623
�� 0.91429 1.33096 2.26314 2.90114 12.27128 −2.00000

�� 0.91410 1.33167 2.26362 2.90070 12.43809 2.00000
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 	�� ����������� ��/��� �����"� 9��$
+ μ = 2 · 10−3�

k ã ẽ T̃ C T̃r T̃rv

� 0.72473 1.00625 1.54410 3.09135 −2.00000 −1.92022

� 0.72355 1.00571 1.53549 3.09220 −2.00000 −1.93187
	 0.76473 1.39370 1.99848 2.91849 1.27059 2.00000


 0.76393 1.43805 1.99964 2.88256 1.21224 2.00000
� 0.78070 1.76619 2.01750 2.41896 2.00000 1.73589
m 0.80531 1.70985 2.04310 2.50843 8.41322 −2.00000

d 0.99850 1.16535 1.98580 2.99119 8.91030 −2.00000
- 1.00199 1.12940 1.75677 3.00903 9.65885 2.00000

j 0.96876 1.08431 1.63142 3.02360 2.00000 2.12157
�, 0.96878 1.08432 1.63146 3.02360 −2.00000 2.11769

�� 0.97144 1.08714 1.63694 3.02290 −7.02724 2.00000
�� 1.00419 1.16219 1.95917 2.99334 6.26993 −2.00000

�	 0.96164 1.22288 2.18868 2.96262 10.69170 −2.00000
�
 0.94868 1.25086 2.21852 2.94874 11.95833 2.00000
�� 0.64516 0.92234 1.05620 3.15923 2.00000 1.85786

�m 0.54437 0.21110 1.02941 2.89003 6.59234 −2.00000
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 	�	 ����������� ��/��� �����"� 9��$
+ μ = 3 · 10−3�

k ã ẽ T̃ C T̃r T̃rv

� 0.72168 1.00450 1.49143 3.09798 −2.00000 −1.97852

� 0.73118 1.01119 1.55878 3.09138 −2.00000 −1.80934
	 0.76594 1.39711 1.99778 2.91709 0.91910 2.00000


 0.76458 1.44023 1.99949 2.88159 0.83761 2.00000
� 0.78381 1.73502 2.02118 2.48011 2.00000 1.77136
m 0.82164 1.64167 2.06132 2.61151 8.73356 −2.00000

d 0.97679 1.20710 2.06074 2.97650 10.67212 −2.00000
- 0.97455 1.12448 1.71040 3.01800 11.25715 2.00000

j 0.95205 1.08924 1.61407 3.03091 11.31311 2.00000
�, 0.77212 0.84420 1.47124 3.07801 2.00000 1.84240

�� 0.77215 0.84422 1.47200 3.07801 −2.00000 1.85388
�� 0.77432 0.84720 1.48911 3.07774 −4.71776 2.00000

�	 0.77465 0.84769 1.49053 3.07770 −2.00000 2.00166
�
 0.77475 0.84785 1.49099 3.07768 2.00000 2.00201
�� 0.77594 0.84967 1.49548 3.07751 6.86982 2.00000

�m 0.98847 1.12028 1.67103 3.02346 15.16546 −2.00000
�d 1.01831 1.20049 2.01441 2.98316 12.38541 −2.00000

�- 0.99520 1.20216 2.04503 2.98044 13.44788 2.00000
�j 0.65299 0.91253 1.08206 3.15381 2.00000 1.69132

�, 0.53366 0.18794 1.02974 2.89869 6.86899 −2.00000
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 	�
 ����������� ��/��� �����"� 9��$
+ μ = μ′
1�

k ã ẽ T̃ C T̃r T̃rv

� 0.74307 1.02263 1.60310 3.08855 −2.00000 −1.48878
� 0.66364 0.90585 1.11598 3.14761 2.00000 1.37954
	 0.68872 0.72837 1.23371 3.10347 2.00000 −1.84389


 0.69131 0.72519 1.27362 3.10258 −2.00000 −1.97228
� 0.69647 0.72215 1.44170 3.10182 −2.00000 1.63270

m 0.69723 0.72272 1.47870 3.10180 2.00001 1.99073
d 0.93264 1.07164 1.60381 3.04888 17.00208 −2.00000

- 1.02064 1.20275 1.90521 2.99197 14.64865 −2.00000
j 1.00762 1.21786 2.00186 2.98028 14.26744 2.00000

�, 0.76694 1.39860 1.99692 2.91715 0.53823 2.00000
�� 0.76665 1.43849 1.99906 2.88464 0.44260 2.00000
�� 0.77599 1.69185 2.01446 2.56584 −2.00000 1.95579

�	 0.77624 1.69292 2.01470 2.56381 −2.00000 1.95359
�
 0.78642 1.70636 2.02433 2.53215 2.00000 1.79447

�� 0.84381 1.55648 2.08470 2.71773 9.06748 −2.00000
�m 0.95243 1.25883 2.10237 2.95344 10.27359 −2.00000

�d 0.99138 1.18916 1.88863 2.99556 10.46371 2.00000
�- 0.96978 1.13318 1.68529 3.02390 10.68423 2.00000

�j −0.63260 0.69957 1.21355 3.10380 2.00000 −1.73165
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 	�� ����������� ��/��� �����"� 9��$
+ μ = 5 · 10−3�

k ã ẽ T̃ C T̃r T̃rv

� 0.76678 1.39430 1.99594 2.92102 0.26904 2.00000

� 0.76705 1.44102 1.99896 2.88316 0.14217 2.00000
	 0.78805 1.68758 2.02624 2.56435 2.00000 1.80603


 0.87020 1.46698 2.10742 2.80804 9.36170 −2.00000
� 0.92415 1.32137 2.12158 2.91830 9.88792 −2.00000
m 0.98759 1.20897 1.92324 2.98913 10.03214 2.00000

d 0.97341 1.15335 1.71751 3.02081 10.23280 2.00000
- 0.76953 0.89692 1.35799 3.09641 6.81328 −2.00000

j 0.75895 0.88181 1.33793 3.09942 6.43340 −2.00000
�, 0.67411 0.90447 1.14874 3.14236 2.00000 0.99294

�� 0.73129 1.00702 1.48739 3.10085 −2.00000 −2.00602
�� 0.75310 1.03557 1.64144 3.08567 −2.00000 −1.09713

�	 0.51887 0.15745 1.02886 2.91459 7.26907 −2.00000
�
 0.63660 0.60762 1.21677 3.11124 6.65435 −2.00000
�� 0.63734 0.60936 1.21948 3.11140 6.62580 −2.00000

�m 0.66087 0.65414 1.48444 3.11386 4.36058 2.00000
�d 0.62046 0.54029 1.77352 3.10118 17.29409 −2.00000

�- 0.60705 0.49630 1.84536 3.09245 18.23484 −2.00000
�j 0.56743 0.34077 2.11905 3.05005 19.44408 2.00000

�, 0.52524 0.15098 2.60896 3.00080 18.10977 2.00000
�� 0.51259 0.09228 2.80090 2.98734 17.51982 −2.00000

�� 0.50479 0.05543 2.92429 2.97810 17.26414 −2.00000
�	 0.49726 0.01703 3.07761 2.96477 17.07851 2.00000
�
 1.01159 1.22666 1.96987 2.98123 14.83026 2.00000

�� 1.02653 1.22018 1.91309 2.98794 14.77202 −2.00000
�m 0.89372 1.03621 1.58655 3.06670 17.87033 −2.00000

�d 0.72443 0.78775 1.67165 3.11113 17.77427 −2.00000
�- 0.72014 0.77962 1.68476 3.11178 17.69079 −2.00000

�j 0.70380 0.74722 1.94299 3.11377 17.62877 1.99999
	, 0.76903 0.86486 2.21798 3.10227 28.11488 −2.00000
	� 0.82202 0.94391 2.34514 3.08850 29.15898 −2.00000

	� 0.91550 1.06007 2.57060 3.06032 29.26631 2.00000
		 1.03500 1.19726 3.24758 3.00688 26.36665 2.00000



��

i
/$�9
 	�m ����������� ��/��� �����"� 9��$
+ μ = μM �

k ã ẽ T̃ C T̃r T̃rv

� 0.77446 1.41086 1.99074 2.91613 −1.68694 2.00000

� 0.77109 1.45739 1.99859 2.87441 −1.85308 2.00000
	 0.77398 1.48822 2.00271 2.84530 −2.00000 1.99679


 0.78164 1.57325 2.01849 2.74339 −2.00000 1.95681
� 0.79700 1.58665 2.03232 2.71703 2.00000 1.85284
m 0.94801 1.28991 1.95622 2.96457 7.71655 2.00000

d 0.95229 1.24192 1.84520 3.00088 7.69841 2.00000
- 0.82613 1.12415 1.69167 3.07103 2.00000 −0.16030

j 0.80385 1.16417 1.81734 3.05689 −2.00000 1.07930
�, 0.80195 1.17186 1.83386 3.05386 −2.00000 1.22930

i
/$�9
 	�d ����������� ��/��� �����"� 9��$
+ μ = 2.3 · 10−2�

k ã ẽ T̃ C T̃r T̃rv

� 0.80989 1.31540 1.92191 2.99528 −2.00000 1.85923
� 0.78068 1.40694 1.97685 2.92955 −2.62199 2.00000

	 0.78718 1.45049 1.98945 2.89349 −2.51640 2.00000

 0.78861 1.49600 2.00592 2.84431 −2.00000 1.98562

� 0.80558 1.51035 2.02113 2.81947 2.00000 1.92859
m 0.88850 1.37707 1.98156 2.92587 5.61988 2.00000

d 0.89613 1.33436 1.92962 2.96290 5.54204 2.00000
- 0.84068 1.28561 1.88056 3.00976 2.00000 1.67544
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ã

T̃r

μ = 3 · 10−3 μ = μ′
1

0

5

10

15

0.7 0.8 0.9 1

–10

0

10

20

30

0.7 0.8 0.9 1 ã
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ã

T̃r

μ = 5 · 10−3

μ = μM

μ = 2.3 · 10−2
μ = μ′′

1

–2

0

2

4

6

0.7 0.8 0.9 1

���� �� ���	
��� 
	������ �	��� 
������ ���	� � ����������� ã� T̃r�
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ã

ẽ
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ã

T̃r

μ = 6.5 · 10−4 μ = μ′
2–5

0

5

10

15

0.75 0.8 0.85 0.9 0.95 1

–10

0

10

20

30

0.75 0.8 0.85 0.9 0.95 1 ã
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ã

T̃rv

ã
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